ECO0220 Exercise set 11

1a) Given your estimates of a, B and ¢ in question 13 of Exercise set 9/10 what would the
variance of the prediction of Y be for X = 20, what would the variance be if it were a forecast.
1b) Test the hypothesis that the true predicted Y is greater than 42.

1c) Test the hypothesis that the true forecasted Y is greater than 42.

2a) Show that the prediction and forecast of Y given X based upon the OLS estimate of y for the
model used in exercises 1 through 4 of Exercise set 9/10 is unbiased.

2b) Derive the variance of the prediction and forecast of Y given X for the model used in
exercises 1 through 4 of Exercise set 9/10.

2¢) Based upon you estimates of y and o in question 5 construct a 95% confidence interval for
the prediction and forecast of Y when Xis 2.5.

3. Calculate the correlation coefficient R? and F test for the model in question 13 of Exercise set
9/10.

4. Calculate the correlation coefficient R? and F test for the model in question 4 of Exercise set
9/10.
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